



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{3} - \left(\frac{2}{3} + \frac{1}{3}\right)^2 =$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{2}{5} - \frac{1}{4}\right)^2 =$$

$$\left(\frac{1}{4} + \frac{3}{4}\right)^2 - \frac{1}{4}\left(\frac{1}{2} - \frac{3}{5}\right) =$$

$$\left(4 + \frac{1}{2}\right)^2 + \frac{1}{2} + \frac{1}{2} - 3^2 =$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{2} \times \frac{1}{3} \times 2^2 =$$

$$\left(2 + \frac{1}{3}\right)^2 + \frac{1}{6} \times \frac{3}{2} \times 4^2 =$$

$$\left(\frac{1}{6} + \frac{2}{5}\right)^2 - \frac{2}{5}\left(\frac{1}{3} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 - \frac{2}{3}\left(\frac{1}{6} + \left(\frac{2}{3}\right)^2\right) =$$

$$\left(2 + \frac{1}{2}\right)^2 - \frac{1}{3} \times 4^2 \times \frac{3}{5} =$$

$$\left(4 - \frac{3}{2}\right)^2 - \frac{3}{5} \times \frac{1}{4} - 3^2 =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{3} - \left(\frac{2}{3} + \frac{1}{3}\right)^2 = \left(-\frac{11}{12}\right)$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{2}{5} - \frac{1}{4}\right)^2 = \frac{559}{400} = 1\frac{159}{400}$$

$$\left(\frac{1}{4} + \frac{3}{4}\right)^2 - \frac{1}{4}\left(\frac{1}{2} - \frac{3}{5}\right) = \frac{41}{40} = 1\frac{1}{40}$$

$$\left(4 + \frac{1}{2}\right)^2 + \frac{1}{2} + \frac{1}{2} - 3^2 = \frac{49}{4} = 12\frac{1}{4}$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{2} \times \frac{1}{3} \times 2^2 = \frac{202}{9} = 22\frac{4}{9}$$

$$\left(2 + \frac{1}{3}\right)^2 + \frac{1}{6} \times \frac{3}{2} \times 4^2 = \frac{85}{9} = 9\frac{4}{9}$$

$$\left(\frac{1}{6} + \frac{2}{5}\right)^2 - \frac{2}{5}\left(\frac{1}{3} + \left(\frac{1}{3}\right)^2\right) = \frac{43}{300}$$

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 - \frac{2}{3}\left(\frac{1}{6} + \left(\frac{2}{3}\right)^2\right) = \frac{3463}{2700} = 1\frac{763}{2700}$$

$$\left(2 + \frac{1}{2}\right)^2 - \frac{1}{3} \times 4^2 \times \frac{3}{5} = \frac{61}{20} = 3\frac{1}{20}$$

$$\left(4 - \frac{3}{2}\right)^2 - \frac{3}{5} \times \frac{1}{4} - 3^2 = \left(-\frac{29}{10}\right) = \left(-2\frac{9}{10}\right)$$